77

4

/<7

COND QUATUOR.

o
12

Violoncello.

I

og
N
Y
m.
3 A
= .. o
[+
&
7))
< 0
A.HUVV
ApLL
T
M
_xix
Neal]
O\
i\
o™
~ | ol
@w
g o
M. .
/.‘W\AA >‘.II
F
1
Zhg
S
e ~
dﬁ o &
<
= A
N

0

=

-

bo

HY
17

A

cresc.

L7
| 4

marcato

»

—

| [
ya t T 1
e O
tﬁi#i I
T

be 2~

R0

5
r

=

glusto

a tempo
o
©

rit.
1 P L~
T - I

pochiss. rit.

30

-
[.’

|
v

rit.

40

|
o he o

1
o

&)
- .

Z. 3988



Violoncello.

PRass
=]

]

'/l ‘4"

\ « e .

Leggieramente.

Pgiusto

|

o eolp sttt

e e B B e e ¢ S

. \
le
& i
o
N.I
A .
Id ¢
A\ \
)
AN
N

=

1
‘N = !

]

70

!
]
wld

]
[

&)
ol O
Z

Tl> — -

~

r,é

90

[
Vi

Z. 3988



Tl
Violoncello. 3
5}: - ! T  — - = — q———F ——
4 I [ 1 —1 | | I_JI } I JI I ; — T I {J } } | [ ] ] [J IT “r
- o-¢-0 &9 &0 9 ¢ ¢ 99 o996 -
~ ~— cresc. . N — . N ~ . . .
aX 4)» <€)
F—F e s s s e e s
o999 o ¢ ©
? ~— ~—~— — Y4 S~
T 10> | — S L > 2 = Z
—~ # © 2 b o LF be — he -
=) 7K ? I ﬁﬂ— Lﬂ 1 7o
7' T I L/ 1 [¥] 1 1] &7 1 [ %]  iba X
| 4 I Ji 1 Yy [ T 17 /
- PE ; - | B4
— pock. rit, a tempo
- >

5: 1 b‘P/_\P—L'“ 120/-\ ! T ! Wél\ T

S50
Ty
o
|
H
'
1

cresc. f

be rit. 130%Lempo
o) — — (8] . T P_L‘f;_\br P L e) I ;L
; }7 (@) D | | ol L% >

N——— dolce ~—— ;_\—/ '—‘—/

e
™

o~ . ritard. L

£
|
L]
s
Ne

N
M
&‘L’. |

8y | —
- o o [ {1 1 1&fT7 1 T Taf 10| o @14
| Y A I | @ I PDEBE g I #J@Y T - -
« o e e s cresc., - - - -




Violoncello.

II. Intermezzo.
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III. Menuetto.
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V.

Allegro con fuoco. (M. M. J-144))
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